ERZ.p

ELESA J& €& it

WR SRR W TR Y F W

- WA e B R A (PA) B RSO AR F AT AR, WOEAL AL
o AR AR AL A

- BREAEE, LXEDWE,

- HReRAlr, REIREMN,

- REANAEWRREE S, TR EREAFRAAAEK, 2
#, FE3%, FEUNIRO4TISO4TS3A 2, trH 5 LT %K,

- BRI LR T e [

FRAMER A FEeEe, BEERAREEMAFHAN, X8ER
EeoEtrmdedeseBL AN, RARTHEE, TUFER
#HATB R, A RERER HEK,

1T Mg 2545 R
238155 ERZ.44-p-M6x16 —= j
FEBRTEEER, | e | ,
3 A
i : / —r
[ . :E
= £
. £
'
B ——— i I o+
T
. "ﬁa:ﬂ...
! 1
9 |
i :
d
d1 .
| 7
0 — { slelelele) - - - 97 _‘_I
=
L
o R~ &L gl Es
pm]| me R L D H W h  h  hs di I de | 2 g
238103 | ERZ.44 p-Mdx12 M4 12 15
238105 | ERZ.44 p-M4x16 M4 16 16
238107 | ERZ.44 p-M4x20 M4 20 17
238109 | ERZ.44 p-M4x25 M4 25 18
238111 | ERZ.44 p-M4x32 M4 32 19
238133 | ERZ.44 p-M5x12 M5 12 17
238135 | ERZ.44 p-M5x16 M5 16 18
238137 | ERZ.44 p-M5x20 M5 20 19
238139 | ERZ.44 p-M5x25 M5 25 20
238141 | ERZ44p-M5x32| 44 52 155 305 34 245 35 225 10 11 M5 32 | 18 21
238143 | ERZ.44 p-M5x40 M5 40 22
238145 | ERZ.44 p-M5x50 M5 50 23
238153 | ERZ.44 p-M6x12 M6 12 19
238155 | ERZ.44 p-M6x16 M6 16 20
238157 | ERZ.44 p-M6x20 M6 20 21
238159 | ERZ.44 p-M6x25 M6 25 22
238161 | ERZ.44 p-M6x32 M6 32 23
238163 | ERZ.44 p-M6x40 M6 40 24
238165 | ERZ.44 p-M6x50 M6 50 25

@ [elemnu'l‘in“ “ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




s #E EFR~F TRl WEL =28
A R = R L D H Hi1 hi h2 h3 d1 11 d 6g | Z g
238333 ERZ.63 p-M6x12 M6 12 47
238335 ERZ.63 p-M6x16 M6 16 49
238337 ERZ.63 p-M6x20 M6 20 55
238339 ERZ.63 p-M6x25 M6 25 57
238341 ERZ.63 p-M6x32 M6 32 61
238343 ERZ.63 p-M6x40 M6 40 68
236345 ERZ.63 p-M6x50 M6 50 i
238347 ERZ.63 p-M6x63 M6 63 39
238351 ERZ.63 p-M8x12 M8 12 40
238353 ERZ.63 p-M8x16 M8 16 41
2383585 ERZ.63 p-M8x20 M8 20 42
238357 ERZ.63 p-M8x25 63 73.5 19 38.5 42 31 3.9 30 13.5 13.5 M8 25 24 43
238359 ERZ.63 p-M8x32 M8 32 44
238361 ERZ.63 p-M8x40 M8 40 46
238363 ERZ.63 p-M8x50 M8 50 48
238365 ERZ.63 p-M8x63 M8 63 41
238373 ERZ.63 p-M10x20 M10 20 42
238375 ERZ.63 p-M10x25 M10 25 43
238377 | ERZ.63 p-M10x32 M10 32 45
238379 | ERZ.63 p-M10x40 M10 40 47
238381 ERZ.63 p-M10x50 M10 50 52
238383 ERZ.63 p-M10x63 M10 63 93
238385 ERZ.63 p-M10x80 M10 80 o7
238533 | ERZ.78 p-M8x16 M8 16 70
238535 ERZ.78 p-M8x20 M8 20 73
238537 ERZ.78 p-M8x25 M8 25 76
238539 ERZ.78 p-M8x32 M8 32 81
238541 ERZ.78 p-M8x40 M8 40 86
238543 ERZ.78 p-M8x50 M8 50 88
238545 ERZ.78 p-M8x63 M8 63 94
238547 | ERZ.78 p-M8x80 M8 80 102
238551 ERZ.78 p-M10x16 M10 16 82
238553 ERZ.78 p-M10x20 M10 20 85
238555 ERZ.78 p-M10x25 78 90.5 23 46.56 50.5 36 3.5 36.5 16 16 M10 25 26 91
238557 ERZ.78 p-M10x32 M10 32 98
238559 ERZ.78 p-M10x40 M10 40 108
238561 ERZ.78 p-M10x50 M10 50 120
238563 ERZ.78 p-M10x63 M10 63 64
238565 ERZ.78 p-M10x80 M10 80 67
238573 ERZ.78 p-M12x25 M12 25 70
238575 ERZ.78 p-M12x32 M12 32 73
238577 ERZ.78 p-M12x40 M12 40 79
238579 ERZ.78 p-M12x50 M12 50 79
238581 ERZ.78 p-M12x63 M12 63 85
238583 ERZ.78 p-M12x80 M12 80 88
238723 ERZ.95 p-M10x16 M10 16 111
238725 ERZ.95 p-M10x20 M10 20 113
238727 ERZ.95 p-M10x25 M10 25 115
238729 ERZ.95 p-M10x32 M10 32 118
238731 ERZ.95 p-M10x40 M10 40 121
238733 ERZ.95 p-M10x50 M10 50 128
236735 ERZ.95 p-M10x63 M10 63 133
238737 ERZ.95 p-M10x80 M10 80 141
238747 ERZ.95 p-M12x16 M12 16 113
238749 ERZ.95 p-M12x20 M12 20 117
238751 ERZ.95 p-M12x25 M12 25 122
938753 ERZ.95 p-M12x32 95 109 265 565 61.5 43 5 45 19 18 M12 39 28 195
238755 ERZ.95 p-M12x40 M12 40 131
238757 ERZ.95 p-M12x50 M12 50 138
238759 ERZ.95 p-M12x63 M12 63 148
238761 ERZ.95 p-M12x80 M12 80 160
238773 ERZ.95 p-M16x25 M16 25 139
238775 ERZ.95 p-M16x32 M16 32 146
238777 ERZ.95 p-M16x40 M16 40 154
238779 ERZ.95 p-M16x50 M16 50 171
238781 ERZ.95 p-M16x63 M16 63 184
238783 ERZ.95 p-M16x80 M16 80 199

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source

when reproducing our drawings.

‘elesa+BANTHR




